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QUESTIONS

Q-1

—eiF St stax? + bx + ¢ = OeblaGlaGas | 1
4 3 2 1 ‘I'se number of Terms in a standard quadratic
equation ax®+bx+c=0is
Gun L 3x2 4+ 5x — 2 = 0etl-Ba i | 2
a 2/"3 FS/% 3/"3 5/'§ ira, [3arethe roots ol 3x% + 5x jj:—;]':"—cf)-*— g
then o + fis
_b% — dac | —b? 4+ 4ac | b? 4+ dac | b* — 4duc . T%.E'}’inﬂd/’lﬂl?xz Hislhiiaial e
‘he discrimination of ax® -+ bx +¢ = 01is
)/2 = fex3 ')’2 e 3/2 - 4_3_; y?. - _}EL ’[fyz o< %‘-,Thcn! 7)/2 0 d :]-'3—/(1 4
a=-h x—y |ath x+y E _ f a E «C"_.Q;‘JJ'}:];CL: b =s B Al s
__: o By b B/ I i y __l'i;__(#l_;_.l)v_;f'é Ay, Then aliernando properly st o
g/\};/ =L A8 2 ot z 4 is i) l——l—”——l—* .6
A constant . : An il'nprupcx' A ;)l:()pCX' e lem rrere ‘ T xeDE2)
Term An identity fraction fraction _ |, - g:"'"w'“:‘;wm :’Lﬁf
4 3 2 T .wa ”P’;é‘h\? Syl MU B L S e | T
i f:}’;‘ it 7 “T'he different number of ways to describe a set are.
i o ~e by AUB ;uxa_t{J/“}/;aB SAS| 8
- #U A/ 4 # - B s If A and B are disjoint sets, Then AURBis equal to
e (52Ul s \a 2 1w\ Jz)ﬁdyu -q.,t'@gf[w/vﬁ"dw.«[, ...... S pwen Z oA |9
Upper Clqss %)C())\C\l/:cr!ﬂiacsss sYass Tinits midpoints Ina cumulqtiYc frequency polygon, frequencics are
boundarics plotted against.
ol lcnld_l.«? b 31" _z‘:_t“lk'(rLlea('}({JJJJ!fﬁ.:L:,Ldl .10
Tnbmation Wienn Median Mode The measure which dctcn_'mines the middle most
observation in a data set is called
| 1-tan®g | 1+cos®6 | 1+ tan26 | 1 — sin®6 sec8 = __ . 11
Sl ,.745561)/ /"5 b5 . -..l’_.t'U'.f-—_--_-Li-’l’.jUU..Luf//;fi;](_fféd,_fl) 12
verimetr | R0 | piamoter | cimmrroe | conte ool ofthechele o e
quf g sl it “wa_JJU_C(;L_JJVZ[_%JLJJJ&:ﬁLL./’I)VgI A3
Triple Double Lqual Half ‘Two Tanpents drawn to a circle from a point el Ml
outside ttarc ol i lenpth,
gﬂv___dljjb/(__//l)—‘L-t‘t:,:dugﬁoof_://;JUUJL‘/}(‘J\/_(‘ .14
4 4 2 ] A 4 em long chord subtands a central angle 0f 60"
L The radial segment of this circle is.
| T T T HL.’.,&J'UJ.MT’J:L::U(.}s,:_'-.{:u'k-‘.{l A5
—5 E _4— E ‘The measure of the external angle ofa regular hexapon is
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Answer briclly any Six parts from the followings.

Write the quadratic cquation in standard form,

1\ 9
Solve (Zx — -) = -
7 4

o)
3

x44q

X

7

O%2=12

-

Write the name ofmethods to solving a quadratic equation.

IFind the discriminant of quadratic cquation
6x° -~ 8x + 3 =0
Find the sum and product of root.
x*—5x+3 =0
Write the ciuadratic cquation having roots -1, -7

Ify varies dircelly as X and ¥ = 8 when x =

Find X wheny = 28

Find a third proportional to (x — ¥)%, x3 X y3

Fund o mean praportional between 20 45

Answer bricfly any Six parts from the followings.

. . , xX=5
olve into partial fractions :
MWW Lv—3
nc a rational fraction,
L ['1.,/]',7,‘)] LACING == {2,4,5,9) Then find
any

(=@ , T=0% Thenfind XUT

={a,b,c} and M={d,e,f;g} then find two binary relation

L% L

ne mtersection of two sets.

arithcmatic mean by direct method.
200,225,350,375,270,320,290

1¢ frequency distribution.

> Three propertics of arithematic mean.

6x2=12

¥
e

‘f:r':f’b"';’\’ ={1,4,7,9} and Y

djf - >
_q/4,/;_->_tﬂgfi’£121f.:.JfautJ_jz-,_u .
=B o
2 . B
(2x 3 =
-ﬂ(iédﬁﬁ/’éi&.fd’/&bbﬁ
_;:.{rr""'o»fdf‘(:_»bb'd
6x% —-8x+3 =0

LI Pt o
x*~5x+3=0

=1 ,5% -u.‘.ng..:,b[/d/)»db(_,

Pax = 2,,_(3}/ e 8/,5‘UJTJ:&"IJA;,JIJJI,X

s

y=128.8x,
(=32, 23 —yi b

20,45 _gfebe

ez A Liztge et ditm 3
x—5

mee o ST Al

Ky

RN NP
(2,4,5,9).

XnY
XUT &pbin X=0 , T =0+ .
JrvL={abc} and M={d,e,f,g} -
L X L zfebe i, de
- M JUe Ly
_E-:r'rr‘”bf;ldl)c..'@/’,bfbl

200,225,350,375,270,320,290
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Answer bricfly any Six parts from the followings.
Detine dircet variation,
Find a third proportional to 28 and 4

-7
Convert T to dcgrces.

1%,
Locate 22~ in Xy —plane

Verily (1 — sing) (1 -+ Sing) = cos?p
Findrwhen! = 56 ¢m s O = 45"

How many minutes are in tworight angles?

In AABC g = 17cm,b = ISCm,C::SCm,mAB =7

Foran arc draw two perpendicular bisectors of the chords

PQ and QR ofthis arc.

Noter Attempt any Three Questions. Q.9 s compulsory, ( §x3

Solve the following equation using quadratic formula
3 %
X—06

=1

x—5
solve by using synthetic division if']’ and ‘3’ are the roots of
e equation BT = Q2 e B e ()

ind the values of the letter involved in continued pro

12, 3p-6, 27
X2k 7x4 11
(x+2)%(x+3)

) = {1,2,3,4’,5,6,7,8,9,10}
A == {‘1,3,5,7,9} R = {2,3,5,7}
cn verify (A N BN A"y B

DOrtiong

esolve into partial fractions

@ vacation trip, a family bought 21.3 Jiters ofpetrol at

20 rupees per liter, 18.7 liters at 42.90 rupcees per liter and
5 liters at 40,90 Tupees per liter. Find the meap price per
%

1+Sing 1-Sing

ve that ——— = cl
. 1-Sing 1+8ing 2 Cose

WV two common tangents to two intersecting circles ofradii
1and 4 ¢

¢ that: Any two angles in the same segment of a cirele
l: e i} -

c that! If two arcs ofa circle (or of congruent circles) are

arce

congruent then the corresponding chords are cqual.

6x2=12

et 5@-6 ’“2/

*L{&/oglﬁf‘ﬁ.ﬁl'zufc_dfc_u:d_'}fy/) .J’./.jdf_

P, B

28 sl i b gy

-Edr s Sy :jj

- AU o ) 2

(1 - sing) (1 +sing) = CoS?0 S5 i
!=56/¢,0 =450 g,

S F i,

a=17cm,b = 15 CMm,c=8cm,meB =7 S~ AABC

wgwtd)fJJLWJ_ifP_QU};J .):Lf:;;_{!

28 Ay S f o n i f =iy

-.:“i'f‘(‘_)ou‘_'..d[?;/'LU}"/U&/)JJJ/&IS‘/‘JJ'F_?JP (a)s5

3 4
X—6 x-— 5
=Asla3’ fl’f;gdpﬁ::;&/},wi ()
,u_ﬂuju.iix" = 10x% - Y =
sif'-’r)i”-—uf J;?:‘u.“_/li'd' VJ_JZ'/»

=1

(a6
12, 3p~6, 27
24720011 . _
Ceralle ] “hih LB e l
(I+2)z(x-l-3) '-'()’ UbUJ/L)’} ’ (1)
U'=1{1,2345,,78.910) Kt

A={1357,9) B=(2357
(ANBY =4 yp S ety
.}d%_.-Jafy.O()J,ﬁf”z1.3;ufxu_{:Lr,Lq,4u)%5 (h)
340,90y eP23.551 Y3 £3,42.900)s £ M 187
-df r)b’ cuf/"dlwa s Vi
1+5in@  1-sing . s ;
1=Sing — Trsmg = 2 Cosecd .:.‘J:.._/,L (a)s
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(D) (C) (B} (A | QUESTIONS Q-1
S, 3 s AT webor AN S
__Centre Diwmeter Chord Sceant _Acirele has only one
tj)r/Hl:(‘_”__g‘_'_.;‘:(JLT/_i/_U_UUJJIJJJH}:[J:L_)’IJ\_,_CI )
5 o - 5 ‘The length ofa chord and the radial -gﬂ......“....,:»;!)
75 60 45° 30 scgment ofa circle arc congruent. The central angle
B e - made by the chord will be
HE e NI giintni S | 3
3 2 4 ] How many common tangents can be drawn for two
touching circles.
(x+8)umlx+7) | (x-8 Jostx~7) (x=8)i{x+7) (x4 8)x~7) -u:r),:gu’.u_{uéxz — 15x + 56 4
(x+7) and (x=7) and (x+7) and (x=7)and | Two lincur faclors of x% — 15x -+ 56 arc
(x+8) (x-8) (x-8) (x+8)
Y b P T ' 2 = e
thtf:al ub{' d»;ﬂ?ﬁp ubt/ 'U;UJ”% 4x S5x+2 Otsle | 5
. Rational Imaginary [rrational Roots of the equation 4x* — S5x + 2 = 0 are
numbers
- 4
J . ) abe:’ﬁ;(‘j/J’ J—C’ b? — 4ac > O/l .6
sl Qs 5 : e S s
—— oS e e UL axt 4 bx+c =0
atura 4 ;
Irrational Rational Imaginary | 1f b% — 4ac > 0, butnota perfect square then roots
numbers p
~ of ax® + bx -+ ¢ = 0are
(lzd/.‘ H/(j/_u ("/J?j ij _“:_Hl{f:lufu bl |7
Ahirdterm | Consequent |- Antecedent | Relation | tharation:b,adsealled 1
. < v xy ey v | 8
vy x v The fourth proportional w of xfyiviwis
) N -
D(x) # 0.5_c bt 7 (x) = ;f—?d‘w 9
- S =
il s sl 3 ) ) -
/ RV A funclion of the form _L,(_YuL_,JJ/?(D (x) mN(x) =
Quadratic An equation N(x)
A fraction Anidentity | f(x) = ==, with D(x) # 0, where N(x) and
cquation Dix TS
S i
D (x) arc polynomiuls in bk %ﬁqﬁd
¢
(B} {@ ! {a}} {a} ? Power set of an cmpty sctﬁ_.:x'?:‘{;\\‘jq:_lrn_:{ugb/:gdu 10
SELA X BIx2UiBeahiiad (b S AL i 0
2 8 G 3 [fnumber of elements inASET;zﬁE‘:iT& 3 -g,d:ul,ujlfb_ﬂ,u
2 2 2 2 A d oF .
and in sct B is 2, then npmbe’ £ binary relations in
| AXDBis AN, - _—
') );;())ia/ Jlf‘dU//:f" J!)"Ju/ Q,:é.t'wfﬂ/u:‘)&d/ﬁ'd)ﬂ 12
Circle Histogram Ungrouped Grouped A data in the form ¢ ,If'l’t'.‘q(}crwcy distribution is called.
data data Lo, 4
. - =7 7 eSS =
el 2 his Jlesk A Yl i i bl | .13
Equation Rate Scale Place Mean is nﬂ"uctcdbw-cig;;ﬁéc m
, . , . B = Jxtan® =31 | 14
30 60 45 90 . _
1rtan® =3, then B is cqual to
djﬁ'lz)' L5 p Sl v;".,l:'Llr(/NJUlJLJ)yC_,J(/ Le 25| 15
(Seeant | Cireumference | Diameter | Radius | A chord passing through the ccntie ofn cirele is called
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Part -~
Answer bricfly any Six parts from the tollowings, 6x2=12 -L,[/g,/ca@!:?ﬁ"[.f’/}'l{::_J:(c_.ui'djbu 241
7l %5
Deline radical equation, _u:”dqff’JQ!sud/#
. . ) . X A4 A—2 7 e r
Wiile the quadratic cquation in standard form S +4 =20 U U A S sl Basss
e
Solve by factorization. x% — 11x = 152 x%— 11x = 152 _L[/(,det':.;ué (
N e M N sy . e @ s PR - 5 7
Discuss the nature ofroots of cquation, 16x* ~8x+1=0 e ..,-/-,;rulp((,fu._,._-,b(,s (
Evaluate w37 + @38 + 1 w3 + w38 4 l_g{/’r:fl"‘c.-{? (
. A . . ; ;4 . g ; P
Wriie the quadratic equation having roots. I+i, 1—i U sl Gasndis s BT ¢

IMheratios 3x +1: 6+ 4xand 2 : 5 are cqual. Find
valuc o[ X

. 1
Ity X—andy = 4whenx = 3, find x when y = 24
Find a fourth proportional to 4x* , 2x3 | 18x°

Answer bricfly any Six parts from the followings.

Whatis an improper fraction?

x—11

Resolve into partial fractions. T
P (x—4)(x+3)

I0X={1,4,79},Y=(2,459) thenfind X N ¥
WY =%, F =% henrng ¥ T
Define subseland give one example.
Findaand b il (3-2a,b~=1)=(y-7 24 5)
Define cluss limits,

: i, ;
What is range? aif_j:_vy/"gf\:,}’ (ix)

1020 - 1021ALr -

6X2=12

eix v 05 43 4+1: 6 4xuf-*’;ﬁ (v

..L,:/’r’)l”
y = 24'.1?.‘;;r:“’x?mx =32y = 4 uly « %/7 * (v
S GG axt | 2%3 ) 18x5 (b

_{J_‘//_fﬁ.«é’}?/;’?LIZU{C_.J/C‘L;:LJ;_;EUJ -3/{)!}’
-(‘;_JJT.[:‘(/&_—)_”/:; (i

i N TP

XY Zrb5nx={1479) Y={2459) S (i
YUT &ebie T=0" V=211 (v
e dinZ S lery W)
G-20,0-D=G-7,20+5) Ji_zfpbisa (v
_’;j‘f_,yﬁJ»,wJ’Lz (vii,

Define a frequency distribution. -&5 v 7 600 (viii

55000 (PTO)
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Answer briefly any Six parts from the followings.

Define inverse variation.
Find a mean proportional to | 6 and 49.

Express the following into D°, M", S" form 125.45°

oA Vi
Convert the following to degrees, 4

Deline radian measure ol anple,

[

Verify the identity. (1 —sin0)(1
How many minates are there in two ripht angles?

In AABC, caleulate mBC when mAL = 5em,

MAC = 4em,med = 60°

Divide an arc ofany length into four equal parts,

Part - II

Note: Attempt apy Three Questions.Q.9 is compulsory

Solve the equation by completing square 3x% + 7x = 0
Solve by using synthictic division, if | and 3 are the roats of'the
b L

cquation x*

+'9={

Find the value ol the letter involved in the continucd proportion
0:%,18

2

Resolve into partial fraclion. -
P Co+2) (2 +4)

fU={1,2,3,4,..10} A={13,579) B={14,7,10}
henverity (A -~ D)« A" U [

“ind the standard deviation of 9,3,8,8,9,%,9,

[ tan @ = é;md sin@ < 0, find the values of an other
rigonumetric functions at ¢,

draw circle which touches both the amis-olangle 607

ftwo chords of a circle are cougruent then they will be equidistant
tom the centre,  _____

the angles subtended by two chords of a circle Cor congruent circles) at

e centre (con'csponding centres) are equal, the chords arc equal.

O%2=12

S P A Lizig e §f ettt a2 iy
. :%'J'/IL—?_’ Adut S

e 13 YN AT ST T I

125.45° .2 2602 S I M, D" Skt
Zf -ES et S St €

NP u»/dm/ (

+ S = cos*0 el le G
‘(JY._-_%(_}' f(‘}’/u‘u-’:l/}l 75 1 (v
mAaE = 5 (L r;b’mB(,fjA/lBC (v

mds/ = ()anl [)]Z?: B o] f/
~’T'-rﬂfmufuf“’/.iugfui,.gi&juuf (

fugﬂq__.___n-_ﬂ_,m?

(8x3=29) U9 vt Sy FalinLctiref 3 fn

3x% + 7y = 0. /wf"o/u» 2o a5

b3 1 1 S e F (':“”“(,{5/},;’/;_ ()
,u;f/,u,uju[_x"‘ —10x%24+9 =90

:’ur/ d,__JC_u_A/{.- d)/u"u iosir ()6
8,%,18

(x+2j(x2+43 “Q/J:I;u:u}/d)z (o)

U={1,2.34,..10} A={13,57,9} B={14,7,100.11 (a)7

(A =0) =AU B 2Judn

9,3 ,8,8,9,8,9, 1% 2 rJ-"L)l/!d/Lv (b)
QJJ@(;[;JEJ?_ATKSI'U 0 <0 stanf = %/7 (2)8
e
-—th‘)??!fujﬁl'[:uﬁ;)»'é,:.iu600)?%:‘:"{;,;15 (b>
JIL&IFUJPC,}//»;;Q){JQL?‘/M;_U Lz dudy .S

Ur:/f/‘:‘-"-/:—JUU/)(/.‘U/GLj:'o//bgﬁ._,g&u:_;l;d:[}";)

~r M LS, LI st g
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